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Question 1

Question Type: MultipleChoice

One of the approaches used by TRIZ is referred to as "removing the contradiction.” A project team is asked to determine how many
coats of paint should be applied to a panel. In this case the contradiction is:

Options:

A- additional coats cost money but give a better finish
B- the customer wants an excellent finish at a low cost

C- the company wants to reduce costs but have an excellent finish

Answer:

Question 2

Question Type: MultipleChoice




At a particular time, three components are in parallel and each has a reliability of 0.98. What is the reliability of the system?

Options:

A-0.98
B-0.94
C-0.37
D-0.26

E- none of the above

Answer:

E

Question 3

Question Type: MultipleChoice

At a particular time, three components are in series and each has a reliability of 0.98. What is the reliability of the system?



Options:

A-0.98
B-0.94
C-0.37
D-0.26

E- none of the above

Answer:

B

Question 4

Question Type: MultipleChoice

Use the reliability formula from the previous problem to find the reliability at MTBF.

Options:




A-0.94
B-0.78
C-0.37
D-0.26

E- none of the above

Answer:

Question 5

Question Type: MultipleChoice

The formula for reliability during constant failure rate conditions is:

Use this formula to find the reliability of a product at 800 hours if MTBF = 600 hours.

Options:




A-0.87
B-0.78
C-0.37
D-0.26

E- none of the above

Answer:

Question 6

Question Type: MultipleChoice

If item A is more likely to be detected than item B which will have the highest Detection value?

Options:

A- item A

B-item B



C- cannot be determined

Answer:
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